Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

Selina ICSE Solutions for Class 9 Maths Chapter 3 Compound Interest (Using Formula)

Exercise 3(A)

Solution 1:
Given: P=Rs12,000: n=3vears and r=5%

r n 5 3
Amount=P|1+—1| = 120001+ =
100 100

3
= 12000 [ﬂ]
20
=R513,891.50 Ans.
S Cl=R513,891.50-Rs12,000
= Rs1,891.50 Ans.

Solution 2:

Given : P= Rs15,000; n=2years; rqy =8% and r; =10%

Amount=F 1+L 1+r_2 =15,DDD[1+ 5 J{1+ 10}
100 100 100 100

_15,000[ 22 |[ 1L
25 )L 10

=Rs17,820 Ans.

Solution 3:

Given : P=Rs6,000; n= 3years; rq= 5%; ry= 8% and r5 =10%

I I~ I
Amount=P |1+ 2 || 1+ = || 1+ 2
o [ 100]{ * 100]{ * 100}
=&, 000 1+i 1+i 1+£
100\~ 100 100
_eooo| 21| [22]( 1L
20,)125)10

=Rs7,484.40
;. C.I.= Rs7,484.40 - Rs6,000 = Rs1,484.40 Ans.
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Solution 4:

Given : Amount= Bs5,445; n= 2vears and r = 10%

’
=Y i
100

2
= 5445-p[14 12
100

2
= 5445= P [H]
10

10Y
= P=5, MS[HJ =Rs4.500 Ans.

Solution 5:

Given: Cl.=Rs768.75; n=2years and r =5%

n
Ca=plie T
[ 100]

2
= A-P[1+ 2
100

2
_ I,_x:p[zi] 441,

20) 400
. A-P=Cl
— Ml o pe7es7s
400
41

= ——P=Rs768.75
400

Je2. 75 400
=R~~~ —=

= Rs/, 500 Ans.
41

=P
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Solution 6:

Given: C.l.=Rs1.655; n= 3years and r = 10%

n
p=pl1e T
[ 100}

3
=a-p[1+ 19
100

_ p[ﬂf _1,331,
10, 1,000

. A-P=Cl

i:ggép-mmsmaa

331

1,000

1,655x 1, 000
331

T=

=

=

P=Rs1,655

= P=Rs = Rs5, 000 Ans.

Solution 7:

Given : Amount =Rs?,856; n=2vears;r{ =10% and rz =12%

- Amount=P [1+ LJ [1 LJ

100l " 100
—9856-p[1+ 2|1+ 12
100\ " 100

11Y( 28
= 9,856 =P {EJ [E]

9,856 x 10x 25

S = Rs8,000

= P=Rs

Ans.
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Solution 8:

= [F‘ + 424Dj =P [1.2E|Sj
= P =18000

The sum is 316,000
Solution 9:
F n
f=P1+—
[ 1|:||:|]

2
= 6,615=6,000|1+——
100

{ . ]2 6,615
=1+ =

100) 6,000

r 21
=1+—=—

100 20
=r=5%

At 5% per annum the sum of Rs.6,000 amounts to Rs.6,615 in 2 years when the interest is compounded
annually.

Solution 10:

Let Rs.x and Rs.y be the money invested by Pramod and Rohit respectively such that they will get the
same sum on attaining the age of 25 years.

Pramod will attain the age of 25 years after 25 — 16 = 9 years

Rohit will attain the age of 25 years after 25 -18 = 7 years
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Let Principal =Rsy
Then Amount= Rs 1.44y
n=2years

n
100

2

i
1Ay oy 1e
Y y[%oo}

z
1.4y _ [1+ L]
¥ 100

(& - (155

On comparing,

=} r

A L

= 100

On solving, we get
r= 20%

Pramod and Rohit should invest in 400:441 ratio respectively such that they will get the same sum on
attaining the age of 25 years.
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Solution 11:

Given: P=Rs4,000, Cl. =R=s 1,324 and n =3 vears

Mow, A=F+1]

= £ = Rs.(4,000+ 1,324) = Rs. 5,324

3
A=Pl1s
100

k]
= 5324 = 4000[1+
100

a
2324 (4, T
4000 100

3
1331 :
~ 1000 - [“ ﬁ}

[ R ]3 1331
=1

"Joo) T 1000 "
r 11
RERET R
r i, 1
100 10~ 10
100 .
ir—ﬁ—lﬂfu

Thus, the rate of interest is 10%.

&)
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Solution 12:

Given: P=Rs5,000; A=Rs4,272 and n= 2years
(i}

n
L oA=Pl1+ T
100
r 2
= 6,272=5000]1+__
[ 1DDJ

z
— 6,272 (14 o
5, 000 100

2
;“;@= 1+L
G25 100
2 2
28 r
:‘[E] =[“EJ

On comparing
28 { r

25~ T 100

On solving, we get
r=12%

(ii) Amount at the third year

3
12
- 5000(1+ 2=
* [+1DDJ

3
o8
- 5000|==2

= Rs/, 024,64
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Solution 13:
Given: P=Rs7,000; A=Rs%,317 and r= 10%

n
L a=P| 1+
100
10
:>9,31?=?,DDD[1+WJ
9317 (11"
j?,DDD_[ﬁJ
n
_ L33 (11
1000 |10

(1) - (i)

On comparing

N = 3years

Solution 14:

Given: P=Rs4,000; C.1.=Rs630.50 and r=5%

PR

n
= 630,50 = 4,000 [[1 + i] - 1}

630,50 217
= = -1
4, 000 20
-
_ 1261 21 4
8,000
_ L1261 217"
8 000 20
_ 9,261
8 000~

J
:“[EJ - [EJ

N comparing
N = 3years
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Solution 15:

Letshareof A=Rsy

share of B = Rs (28,730 -v)

rate of interest= 10%

According to question

Amount of A in 3years= Amount of B in Syears

10 Y 10y
jy[“ﬁ} =(28,?3D—y)[1+ﬁJ

=y = (28,730- )1+£2
Y ; V 50

121
= y={28,730 - y)| ===
y=( yj[mo]

= 100y=121(28 730~ v)

= 100y +121y=121% 28,730

= 221y=121% 28,730
,=121x28,730

221
Therefore share of A=Rs15,730
Share of B=Rs28,730 - Rs 15,730=Rs13,000

— Rs15,730
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Solution 16:

[i)Let share of John =Rsy

chare of Smith = Rs (44,200 - y)

rate of interest= 10%

According to question

Amount of John in 4years= Amount of Smithin 2years

4 2
10 10
=y|1+ 22| = (44, 200- y)[ 1+
”’{ 100} ( v)[ mo]
:w[nﬂf = (44,200 - y)
100 !
1Y
:‘F[EJ =44, 200 - v

= 121y=100{44, 200 - v)

= 121y=100x 44,200 - 100y
= 121y+100y=100x 44,200
= 221y =100 44, 200

_ 100x 44,200

-
Y 551

- Rs20,000

Therefore share of John=Rs20,000
Share of Smith=Rs44,200- Rs 20,000=Rs24,200
[ii)Amount that each will receive

4
10
- 20,0001+ ——
’ [HDDJ

4
11
=20 000 =

— Rs29,282
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Solution 17:
(i) I=Rs 6000, T=2years and R = 10%
[ %100  5000x 100 _ Rs. 30,000

~F= =
RxT 102

(i) P=Rs 30,000, n=3 vears and r = 10%

r_ n
.&.—p[1+ ﬁ}

10%?
- SDDDD[HEJ

e
_ SDDDD[H]
10

11 11 11
=3DDDDXEXEKE

-~ Rs. 39,930

(i) Cl. earned in 3 yvears = A-P =Rs (39 930- 30,000) = Rs.930
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Solution 18:

Given: F=Rs B000, R =5%, T=_2years
For simple interest,
P=R =T
100
_ B, 000x5xe
- 100
=Rs 800
For compound interest,

i
A=Pll+__
100

z
£, =18,000 1+i
100

21 N 21
20 20
=Rks.8,820

=1=

=5, 000 x

CL=A-F
=Rs (B,B20-8,000)
=Rs B20
Mow, CIL - S =Rs (B20-800) =Rs 20
Thus, the difference between the compound interest and
the simple interest is Rs. 20,

Exercise 3(B)
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Solution 1:

Let principal (F)=x
R=28%
T=2vyears

W 8w 4)(
100 25

sl =

- 8 2

z
=
=x|1 -1
[+25]

Given, Cl =51 = 54.40
—1 04 — E =R 554 .40
& 25 25
1D4 4 25
625 25 25
il
54,40
[625]
_ 54,40« 625
B 4
® =Rs 2500

] 54,40

Thus, principalsum = Rs, 8500
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Solution 2:

(for 2 years) A =Rs. 19360
T=2vyears
LetP=X

R 2 i a i
w14+ ——| =19360-1)
100

A (for 4 years) = Rs. 23425.60

R 4 1y
x[14+-—| =23425.60-2)
100

14 R ? 2342560
100] 19360
4R ? 2342560
100] 1936000
(R )V 14641
14 =
100 ~ 12100
(1, R (121
100] (110
R 121
14+ =_—-
t100 - 110
R _=21
100 110

R = 10%
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" 107
Form(llyi14 == | =19360
100

= 19360% 10% 10

11x11
¥ = Rs 16000

Thus, sum = Rs. 146000
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Solution 3:
Let principal =x, A =3x,T=8years, R=7
Case |,
-
=]
L=P14+—
[ + lDD]
5]
F.
Sx=x|14+ —
[ + lDD]
b F.
34 =14+ — L1
+ 100 { ]
Casell,

P=wA=27xT=7

T
R,
S =w 14—
[+1EIID]
1/4 =4
27 =14+ — L2
+1CJICJ {}

From (1) and (2) 3}6 _ 2?%

3% =3% =%

T =24

Time = 24 yvears.
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Solution 4:
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Solution 5:
Let principal =Rs. 100, R = 5% T = 2 years
For Kamal, 51 = 100%5 %2

=Rs10
100

-
For Anand, s — p[1_|_ R ]

100
z2
5
— 100{1+4 ——
[ +1oo]

—100x 2L, 2L
50 30
441

4

_ 441 41
Cl=1" _100=-"=
4 4

Difference of Cland 51= #1 _
4

10
_ 41-40

=Rs.

Pl

When difference is Rs. l , then principal = Rs. 100
4
If difference is 1, principal = 100 . 4

If difference is Rs, 15, principal = 100 ., 4., 15 = Rs. 6000
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Solution 6:

51 = Rs. 450

R=4%

R =2vears

p=7

=l=100 _ 450 100

F = =
=T G 2

= Rs5EZS

Mow, P = 5625 R =4%,T=2vyears

b 2
A=seas|14 | = 52528
100 25

_ 3802500
S

= Rs&084
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Solution 7:
Let principal (P), R =4%, T =4 years
ol = Pxdx4 4
100 25
3
a=pli+ > |-p=p|2L] —1|=p[228L _4
100 20 2000
_ 1261,
2000
Given 5l -: Cl=Rs. 228
0 1261
55 “gooo’ <0
Ay 320F — 1261 _ 508
2000
190 =228« 28000
p_ 228 i‘j_m — Rs.96000

Thus, Principal = Rs. 26000
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Solution 8:
Cl=Es 2446 B=5%T =2 years
Cl=A-P

046 =p oL
400

o _ 2465 400
- 41

=Rz 2400

Mow, P = Rs. 2400 R =6%. T = 3 years
ol = 2400 % &= 3
100
=Rz 452
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Solution 9:

Let the sum (principle) = x
Given Amount = 23400, R = 10% and T = 3 vears

woceE T

= nterest | = =
100 10
Amount = Principle + Interest
3X
234l_||:'=.5'f_ ]_D
x = 18000

Principle = 18000
Mow,

Principle ="18000, r = 10% and n = 2 years

A=Pl1s 1
[ 100}

2
A< 18000[1+ 19
100

2

11

A= 18000| —=
[lDJ

A= 12000 1ol
100

A=21780

The amount of the same sum in 2 years and at 10% p.a. compound interest is 21780,
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Solution 10:

For the payvment of Rs, 12,600 at the end of first vear:
A =Rs 12600, n=1yearand r=5%

Mowi, & =P |14+ -
100

£
=12600=P|1+ —
100

21
=12,600=P| =2

=P= % x 12,600 =Rs 12, 000

For the pavment of Rs, 17,640 at the end of second year:
A =Rs 17,640, n =2 vears and r = 5%

Mowi, & =P |14+ -
100

G
=17,640=P|1+ —
100

2
= 17,640 - P[EJ
20

P @xgx 17,640 = Rs, 16,000

L 5um borrowed = Rs (12,000 + 16, 000) = Rs, 28 000

Exercise 3(C)

Solution 1:

Given: P=Rs7,400; r=5% p.a. and n= lyear
Since the interest is compounded half-yearly,

nx2
Then A=FP| 1+ r
2= 100

5 1x2
=?,4Do[1+—2ﬂm]

£

4

- 7,400| =
(3

= Rs7,774.63
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Solution 2:

[(fWhen interest is compounded vearly

Given: P=Rs10,000: n=18months= 1—1vear and r=10%p.a.
For 1vear

Foy 10y 11y
A=P[1+ | =10000{1+ 22| = 10,000[ 22 | = Rs11,000
[ mo] [ mo] [10}

Forl/2 vear
P=Rs11,000:n=1/2 vear and r=10%

Fooye Zx2 o1}
A=F’[1+—] 11 DDD[H 10 J? - 11, ooo[_]
2% 100 ! 2 w100 20
=Rs11,550
- Cl=Rs11,550-Rs10,000=Rs1,550
[ii)When interest is compounded half-vearly

P=Rs10,000; n= 1—1 wvear and r=10%p.a.

- e Exz
A=P|1 10 3z
[ +2x1|:":|] =1D,DDD[1+m]
3
— 10,000 [ﬂ]
20

=Rs11,5/6.25
o Cl=Rs11.,576.25-Rs10,000=Rs1,5746.25

. Difference between both C.l.=Rs1,576.25 - Rs1.550
= Rs26.25 Ans.
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Solution 3:

For the first 2 vears

o1 o PxMxR
100
— oo 16,000 =2 =20
100
= 5.1 = £, 400

Amount=51.+ P
= Amount = 6,400 +16,000
= Amount = 22, 400

Amount in the account at the end of the two vears is $22.400.

For the remaining one year

r w2
A=Plly—
2 =100

2
= 4= 22,400(14 22
200
2
= & = 22,400| 12
10
= 4 = 27,104

The total amount to be paid at the end of the three years is 27,104,
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Solution 4:

n=2
a=pl1s—
2 % 100

§x2
2
= 27,783 =P 1+£
200
3
= 27,783 =P {EJ
20

2
= P=27,783 20
21

= P =24,000

The sum of 24,000 amount $27,783 in one and a half years at 10% per annum compounded half yearly.
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Solution 5:

[i}For Ashokl{interest is compounded vearly)

Let P=Rsy: n=18months= 1—1 yvear and r=20%p.a.

For 1year

n 1
r 20 o
[ ¥ 100] y[ * mo] {5}“
Forl/2 vear

F=FRs [g] W =Y year and r=20%

n«=z 1
I —nZ BE
A=Plls 3 & 20 z =RS[_J
[ +2x1c":|] 'RS[E}I’[l*—moo] 50/

[ii)For Geetalinterest is compounded half-vearly)

1 ,
P=Rsv:n= 1 = vyear and r=20%p.a.

n=2 3.2 11 3
;&.:P[1+ i ] =v|1 _ 20 )2 :F[—J
2x100) Y5700 10
_ = 1,331 y
1, 000
According to question
(L334, (98, —rs33
1, 000 =0
= {L};= ]

1000
33x 1,000

= y=Rs =Rs3,000

- Money invested by each person=Rs3,000 Ans.
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Solution 6:

r 2n
C.I=P[|1+ -1
[[ 2 xlElEl] }

2
— 5,100 = 62,500 [1+——| -1
500

[ r ]2 67,600
=1+ =

200) 62,500
r 260
= lt—=—
200 250
=r=48

The rate of interest is 8%.

Solution 7:
Given: P=Rs1,500; C.1.=Rs42&.50 and r=20%

Since interest is compounded semi-annually

r e 2
Then l:.]:. =F:' [1+ mJ - 1

= rx 2
=495, 50=1,500( 1+ —— -1
= 100

496.50 (1),
1,500  L10

Zn

- 331 (il

1,000 10

2n
— 1,321 _ 11
1,000 10

3 Zn
(4 _fu
10 10

On comparing, we get

2n=3 = nzléyears Ans.
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Given: P=Rs 3,500; r=6% and n= Jyears
Since interest is being compounded half-yearly

n«z
— r- —_
Then C.1. —F‘[[1+ 57100 lDDJ 1:|
[ Ixz
[1+ ] -1

2% 100
103

[35) - 1}
(1.03) - 1]
=3 5@0{1. 194052 - 1]

= 3,500x0.,194052

= R=579 18
Ans.

- 3,500 ©

- 3,500

- 3 500

Solution 9:

Given: P=Rs12,000; n= 1—1 years and r= 10%

To calculate C.1.
For 1year
P=Rs12,000; n=1vear and r=108%
1+ —
1

n
;&=F’[ ] =12,DDD[
Q0

For next 1/2 vear
P=Rs13.200:n=1/2 vear and r=10%

r 10

1+ —
10

rooyE 10
A=P|1+ ~13,200|1+
[ 2}:100} [ 2=100
1
_ 13,200 2L
50
_ Rs13,860

. Cl=Rs13,8460-Rs12,000=Rs1,8460
. Difference between C.1. and 5.
=R51,8460- Rs1,800=Rs40 Ans.

=N

Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
academy@gmail.com

12,000x10x E
100

ZPxRxT=
100

- Rs1,800

1
] — Rs13,200
0

1.,
Jz
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Solution 10:
Given: P=Rs12,000; n= 1—; yvears and r= 10%

To calculate C.l.(compounded half-vearly)

P=Rs12,000;n= 1—; wvears and r=10%

FooymE 10
A=Pl1+ 12,0001+
2 %100

3

- 12, 000 (2]
20

- Rs13,891.50

L Cl=FRs13,891 .50 -Rs12,000=Rs1,6891.50

. Difference between C.l. and 5.1
=Rs51,891.50 - Rs1,800=Rs%91.50 Ans.

Exercise 3(D)

Solution 1:
Cost of machine in 2008 = Rs44,000
Depreciation rate=12%

(i} . Cost of machine at the end of 2009

n
i
B p[i_ moj

2
12
- 44, 000[1 - ﬁ}

a8 Y
_44,000x| 22| - Rs34,073.60
100

(i) Cost of machine at the beginning of 2007(P)

n
A=Pl1-—
100

1
= 44,000 = P[1- 12
100
gs Y
= 44, 000 = P| 22
’ [100}
= p=34 003100 poon 000 Ans

88

S

2% 100

3
_PxRxT _ 12,000x 10x =
100 100

- R=1,800

32
Jz

Ans,
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Solution 2:

Let % be the value of the article.

The value of an article decreases for two years at the rate of 10% per year.

The value of the article at the end of the 15t year is
H-10% of x = 0.90x

The value of the article at the end of the 279 yearis
0.90x - 10% of (0.90x) = 0.81x

The value of the article increases in the 3™ yvear by 10%.

The value of the article at the end of 3™ yvear is
0.81x+ 10% of (0.81x) = 0.891x

The value of the article at the end of 3 years is 40,095,
0.891« = 40,095

= x =45, 000

The original value of the article is ¥45,000.
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Solution 3:

Population in 2005(P) = 44,000
Let after nyears its population be 74,088(A)
Growth rate= 5% per annum

n
A=Plls
100

)
= 74,088 < 64,0001+ 2
100

n
_, 74,088 [21}

64000 L20
g261 21y
ie,ooo‘[ﬁ}

INEI NN
20) L20
On comparing, we get

n = 3 vyears
Ans.

Solution 4:

Let the population in the beginning of 1998=P
The population at the end of 1999 =2,85,120(4)
ri=-12%andr; =+8%

A=Pl1-"t |14 2
100 100
—285120-P[1- 2= |[1+-5
100 100
=2 a5, 12D=P{%J[£J
25125
_ 2,85 120x25x25
0% 27

=P

= 3,00, 000 Ans.
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Solution 5:

Let sum of money be Rs P and rate of interest=r%
Money after 1year= Rs14,500
Money after 3years=Rs19,965

For 1year
r n
=P 1+ —
[ lDD]
r 1
=16500=P|1+ —| -~ - —-=———-- - (1)
100
For 3years
r n
=P 1+ —
[ lDD]
r 3
=19965=P|1+ —| ——-—-—----—- (2)
100

Divide eq™(2) by eq™ (1)

3

)
Pl1+

19,965 [ ¥ 100]

16,500 I~
Pli+ —

100

z
121 r
=100 " [“ﬁ}

z z
= E = 1+L
10 100

On comparing, we get
ﬂ =1+ o = r=10% Ans.
10 100

Putvalue of rineq™ (1)

16,500=F| 1+ 10
100

= p=16200x10 5?'3 *19 _ Rs15,000 Ans
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Solution 6:

Given: P = Rs7,500 and Time(n)= 2years
Let rate of interest = y%

Sl = FeRxT 7,500xyx2

= Rs150y
100 100
I " z
Cl=Pl1+ ——| -P=Rs7,500[1+ | -Rs7, 500
100 100
Given: C.l. - 5.1.=Rs12

2
=7,500|1+ | -7 500- 150y=12
100

yo 2y
:?,500[1+ +—J—?,500—15oy=12
10000 = 100
2
= 7,500+ 229N L 150y - 7,500 - 150y=12
0000
2
= i
4
=y =16 =y = 4% Ans
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Solution 7:

Let Principal be Rsy and rate=r%

According to 15 condition
Amount in 10 years = Rs 3y

-

i

A=P(1+ ——
[ " lDD]

r 10
= By=y[1+ ——
4 y[J’iDD]

= 3=[1 + 1L]m ——————— (1)

According to 2™ condition

Let after nyears amount will be Rs 27y

r n
A=P{1 N _]

100

n

i
= o7y=y 1+
Y v[ +1DD]

=(3)° =[1+ 1"@}”

Put value from first equation

r 10 r m
i[[l-'-ﬁ] =[1+ﬁJ

On comparing, we get
n = 10x 3= 30years Ans,
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Solution 8:
At the end of the two years the amount is

n
s, =Pl1+ -
100

z
:::x-‘«1=F' 1+£
100

Mr. Sharma paid 19,340 at the end of the second year.
So for the third year the principal is A4 - 19,3560.

Also he cleared the debt by paying T31.944 at the end of the third yvear.

n

"
Ao =Pll+—
100

2 1
= 31,944 = [P 1+£ -19, 3260 1+£
140 100

2
= 29040 = |P 1+£ - 19,360
100

2
=P 1+£ = 48, 400
100

= P = 40,000

Mr. Sharma borrowed $40,000.
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Solution 9:

Let sum of money be RSy

To calculate 5.1,

SIII:F’xR T _¥x 10x1 _ps Y
100 100 10

To calculate C.licompounded half-vearly)

r nx=2 10 1x2
cl=F [1+2xIDDJ - [lJ’zxmoJ -1

= Y _15=y =Rs6,000  Ans.
400

Solution 10:
| 7
21+ = - vi(l+ s
100 100

Y _ a2
- )
100

¥ _ 400
y o 441

Exercise 3(E)
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Solution 1:

Given: 5.1, = Rs 450:Time= 2 vears and Rate = 4%
. I =100 450 =100
Principal = ~ = = = F=s. BEG2E5
R=T 4 w2
2M case(compounded half-vearly)
P=%5625;n=1vearandr=4%

=9

- nxa 4 1x2
b= Pll+—m— = E625|1+—
2= 100 2=100
2
= L,625 E = Rs, 5BL52 .25
ta

C.l. =5852.25 - 5,625 = Rs, 227.25

Solution 2:

. ) 1
Given: P = Rs, 10,800; Time = Egyearz and Rate= 10%p.a

For 2vears
z

.
s=pl1+——| =10,800(1+ 22 -prs13,068
100 100

For ¥ year

1
n«z —KE
s=plie— ] <-—13,068[14+—2
5% 100 2 %100

= 13,068 = % =13,721.40 = Rs 13721(nearest rupee)

. ¥13,721-310,800=32,921
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Solution 3:

(i) Present value of machine(P) = $97,200
Depreciation rate = 10%

n
- %alue of machine after 2 years = P {1 - L]

Z
97,200(1 - 10
100

1]

[fm}

-

ha

=

=
—

'_l|u:|
—
T

=T78732
(ii) Present value of machine(&) = 397,200
Depreciation rate = 10% and time = 2 years
To calculate the cost 2 vears aso

r n
a=pl1- —
{ 1|:n:|]

Z
= 97,200 = F‘[l—ﬂ]

100

q 2
= 97,200= P|—
5

10
— P =Rs. 9?,20@{?} — 1,20,000

Solution 4:

Let the sum of money lent by both Ty
For Anuj
P =%y rate = 8% and time = 2 years
Sl = F"xRxT= }fxBxE:ﬂ
o 100 100 25

For Rajesh
P =3y rate = 8% and time = 2 years

n 2
Cl =P [“;J Y [1+ij 1o 104y
100 100 225

Given: C.l. -T464

100 gy
625 25

= A Ed = ¥y = BAxb625 F.s.10,000 Interest received by Anuj = 410,000 =Rs 1600
625 4 25

Interest received by Rajesh= 104x10,000 _ Fs 1664

25
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Solution 5:
Given: Principal = ¥4,715:time = 5 years and rate= 5% p.a.
P=RE =T _ 4715 =5=5 _1,178.75
100 100
ThenC.l.=31,178.75x4=34,715
Time = 2 years and rate = 5%

=1 =

A
cl =pP|[1+1—] -1
100

c 2
= 41?15:P[1+_] _1

= 4,715

I
-
D"P‘
=] |
e

¢ B 7152900 po 46 000

= P =R
41
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Solution 6:

Given: C.I. for the 2" year =¥4,950 and rate = 15%

A
Then, C.1. = P @+_LJ 1

1
= 4,950 =F [1+£J -1

= 4,950 =P =2
20

4,950 = 20
3
= P=FRs, 33,000

= P =

Then amount at the end of 279 year= 733,000
For first 2vears
A=933,000;ry =10%

A=Pl1+ L
100

= 323,000=FP 1+£
100

— 33,000 = P 11
10

_ 33,000=10
11
The sum invested is $30,000.

P = 30,000

Email : favouriteacademy@gmail.com
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Solution 7:

Let the sum of money be Ty
and rate = 10% p.a. compounded half vearly

For first &months
£><2
L, 10 T (21
¥ 2 % 100 = lzo)¥

. n«z
A= Plle—m—
[ 2 x 1|:n:|]
For first 12 months
n=z 1wz
a=pl1+— vl1+ 441
2 =100 2 =100 4EIEI
Given: The difference between the above amounts = T18%
441 21
— - = 139
[4EIEIJ 4 {EDJ v =
= 21 v = 189
400

189« 400
21

= y=

= 3600

Solution 8:
P =%86,000:;time = 2 yvears and rate = 5% p.a.
To calculate 5.1,

Sl = PxRxT= 8s, 000 x5 w2 ~ Rs B,600

100 100
To calculate C.1.

i
cl =P|[1+_] -1
[[ 100] ]
5 z
a6,000([1+ =] -1
[[ 100} ]

= 86,0001 Rs. 8,815
400

Profit= C.l.-5.l.=¥8,815 - 8,600 =215
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Solution 9:

Let Tx be the sum of money.
Rate = 5% p.a. Simple interest =%1,200, n = 3years.

1,200 = Haw b3
100
_1z,00,00
~ 15
= = 8,000

The amount due and the compound interest on this sum of money at the same rate and after 2 years.
P =%8,000;rate = 5% p.a..n = 3 years

r n
LA = Pl —
100

c 2
= A = 80001+ _—

100
= A& = 8,000{1.1025)
= A& = 8,820
ClL=a-P
= CI = 8,820 - & 000
= CIL =820

The amount due after 2 years is 8,820 and the compound interest is T820.



Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

Solution 10:

Let %% be the rate of interest.
P=%6,000,n=2vyears. A=36720

i. For the first year

r n
PI1+ —
{ 1E|E|J

1
— 6,720 = 6,000|1+ ——
100

a0

A =

= 6,720-5,000 =

=® = 12

The rate of interest is x% = 12%.
ii. The amount at the end of the second year.

.

PI1l+ ——

[ 1E|E|]

2

= &= 6,000 1+£

100

= &= 6,000 112

100

7,526.40

2

= A =

The amount at the end of the second year =37,526.40



